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I 10 mwn (Mmwn is connected to 'n Mwn on :Tn) — 1MW stands in lieu of owner for liability
a  Rmaexpands -4 pmw:
i if the ox is on and kills — the ox is killed (1mw owes an ox to owner) and no 191
ii  if: the ox is 7y and kills — the ox is killed and the 1mw pays 1912
1 exception to above: if bailor is a DIn AMWY, no liability for ox (no payment to owner)
(a) question: what level of care was given?
(i) If: it was proper care, none of them should be liable
(if) If: it was improper care, all should be liable (even n"v)
(b) Answerl: there was minimal N (sufficient for n"w, not for others)
(i) Question: whose authority does this follow?
1. »77 (12w 9p1=n"): should exempt 120 1MW as well
2. i 71 (1w = 15w Aw1): should all be exempt from 71913 (°"1: minimal nnw sufficient for Tvn)
(if) answerl: X" — only proper n1nv is “the knife”; in re: ", he holds like
(iii) Answer2 (»ax): follows n™ as per “flip” of mar 92 na7 (he equates v"v to 121V)
b Related ruling: if he entrusted his ox to a n"» and it attacked — he’s liable; if it was attacked — he’s exempt
i Question: if he accepted liability for damages, should be liable in both directions; if not, should be exempt
ii ~ Answer (837): he accepted liability but recognized him to be a “gorer”; the default assumption is that he may damage
(which he accepted) but not that he would be hurt by others (ergo — he didn’t accept that liability)
II 20 mwn: proper NMY
a  n":if he tied up the animal and locked up - still liable
i reason: assumption that a 1 is not considered “guarded” by default
ii  ergo: the nmn holds the owner liable for on - requires minmal NPV
iii  then: MW’ ®Y (in case of T»N) raises the bar to n%yn NN (excellent nnWY)
iv  then: the v"n of NnM::NN equates on:: YN > TN also requires excellent NNV
b M :in that case, he’s only liable for on (191 is considered guarded with minimal nvnw)
i reason: assumption that a 1 is considered “guarded”
ii  ergo: the liability for bn 1w means that there is a requirement of n91yn NNV
iii  then: the phrase 11w’ 89 “repeats the raised bar” of n%wn nNWY — which is a 127 IR M27 - to exclude NNyn nnY
iv  therefore: a 7 doesn’t require N%wn NRWY; the w1 is blocked by NINW’ 891 — minimal NNWY is limited to Tm
1 note: wInw ®RY, for its own needs, could have been written MW’ ®YY; NINY? 8RN extends to teach this
C  Ap»”1x"aRY requires minimal nnW for both — accepts ’s approach but reads v (1v10% AN DNY ANA)
i Note (8¥7ax7): " only exempted (in case of nmna nnw) the Y2 that is Ty — but the Y5-on remains (owes Y2)
d a7if an ox is 7 from 1 side (horn), he isn’t 7 for the other side
i question: who does this follow? (~ n”1, who requires n9wn n1nw for both); cannot be 7, even offending side has on Tx
ii  answer: 21 rejects R"aR"; argues that »1 exempts T in totum if there was minimal n’nw — even where 1 ox is 7y on
e  N™:the only nvnw is “a knife” (i.e. there is no “sufficient n1'nw”) for a N
i reason (737): v. 1 — once it is a TN, it has no NNV
1 Challenge (7ax): if so, v. 2 should also not allow for a sufficient repair (cover) — but it does (:n "2)
2 Rather (7ax): follows 1m "7’s application of v. 3 — we must get rid of potential for danger in our homes
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